General MathematicsVol. 31, No. 2 (2023), 80-84

DOI: 10.2478/gm-2023-0013

🗲 sciendo

Variance and information potential of some random variables ${}^{\scriptscriptstyle 1}$

Gabriela Motronea, Alin Pepenar

Abstract

We investigate random variables for which the variance and the information potential satisfy a preservation law.

2010 Mathematics Subject Classification: 94A17, 60E05. Key words and phrases: Random variable, variance, information potential, preservation law.

1 Introduction

The theory of information potential and its applications is extensively presented in [3]. Recent results and applications can be found in [1], [2], [4]. These papers are concerned, in particular, with a preservation law involving information potential and variance. More precisely, let Y_x be a random variable with probability density function p(t, x) depending on a parameter x. Let V(x) be the corresponding variance of Y_x and S(x) the associated information potential

$$S(x) := \int_{\mathbb{R}} p^2(t, x) dt.$$

For certain random variables Y_x the following result holds:

(1) $V(x)S^2(x) = \text{ constant with respect to } x.$

Accepted for publication (in revised form) 22 November, 2023

¹Received 2 August, 2023

This shows, in particular, that V(x) and S(x) are asynchronous functions. Some examples are presented in [1] and [2]. See also [4, Remark 10].

In Section 2 we present a general method for constructing random variables which satisfy (1). Section 3 is devoted to an example where (1) is not satisfied, but V(x) and S(x) are asynchronous.

2 Random variables obeying the preservation law

Let X be a continuous random variable having the probability density function $\varphi(s), s \in \mathbb{R}$. For x > 0 let $Y_x := \frac{1}{r}X$.

Theorem 1 The associated variances and information potentials satisfy

(2)
$$V[Y_x]S^2[Y_x] = V[X]S^2[X], x > 0.$$

In particular, $V[Y_x]S^2[Y_x]$ does not depend on x.

Proof. Let $p(t, x) := x\varphi(xt), t \in \mathbb{R}, x > 0$. Then, for $y \in \mathbb{R}$ we have

$$\int_{-\infty}^{y} p(t, x)dt = \int_{-\infty}^{y} x\varphi(xt)dt = \int_{-\infty}^{xy} x\varphi(s)\frac{ds}{x} = \int_{-\infty}^{xy} \varphi(s)ds$$
$$= P(X < xy) = P(Y_x < y).$$

It follows that the probability density function of Y_x is p(t, x).

Now

$$S[Y_x] = \int_{\mathbb{R}} p^2(t, x) dt = \int_{\mathbb{R}} x^2 \varphi^2(xt) dt$$
$$= \int_{\mathbb{R}} x^2 \varphi^2(s) \frac{ds}{x} = x \int_{\mathbb{R}} \varphi^2(s) ds = xS[X].$$

Moreover, $V[Y_x] = \frac{1}{x^2}V[X]$, and so $V[Y_x]S^2[Y_x] = \frac{1}{x^2}V[X]x^2S^2[X] = V[X]S^2[X]$ and the proof of (2) is complete.

Example 1 Let $\alpha > 0$, $\beta > -1$, $\lambda > 0$,

(3)
$$\varphi(s) = \begin{cases} \alpha s^{\beta} e^{-\lambda s^{\alpha}} \left(\Gamma\left(\frac{\beta+1}{\alpha}\right) \right)^{-1} \lambda^{\frac{\beta+1}{\alpha}}, s > 0, \\ 0, s \le 0. \end{cases}$$

If φ is the probability density function of X, and x > 0, then

$$p(t,x) = \begin{cases} \alpha x^{\beta+1} \left(\Gamma\left(\frac{\beta+1}{\alpha}\right) \right)^{-1} t^{\beta} e^{-\lambda(xt)^{\alpha}} \lambda^{\frac{\beta+1}{\alpha}}, t > 0, \\ 0, t \le 0 \end{cases}$$

G. Motronea, A. Pepenar

is the probability density function of $Y_x = \frac{1}{x}X$. So, according to Theorem 1 we have $V[Y_x]S^2[Y_x] = V[X]S^2[X]$. This function p(t,x) can be obtained from [1, (2.2)] if we take there $a(x) := \lambda x^{\alpha}$. So, by a direct calculation or by using [1, (2.3)] we get

$$V[Y_x]S^2[Y_x] = \left(\alpha 2^{-\frac{2\beta+1}{\alpha}}\right)^2 \Gamma^2\left(\frac{2\beta+1}{\alpha}\right) \Gamma^{-4}\left(\frac{\beta+1}{\alpha}\right)$$
$$\cdot \left[\Gamma\left(\frac{\beta+1}{\alpha}\right) \Gamma\left(\frac{\beta+3}{\alpha}\right) - \Gamma^2\left(\frac{\beta+2}{\alpha}\right)\right],$$

Remark 1 If we choose $\beta = \alpha - 1$, (3) reduces to the Weibull probability density function.

Example 2 (see also [1, Example 2.2]) If $n \in \mathbb{N}$ and

$$\varphi(s) = \begin{cases} \frac{s^n}{n!} e^{-s}, \ s > 0, \\ 0, s \le 0, \end{cases}$$

then

$$p(t,x) = \begin{cases} \frac{x^{n+1}}{n!} t^n e^{-xt}, \ t > 0, \\ 0, t \le 0, \end{cases}$$

and consequently

$$V[Y_x]S^2[Y_x] = \frac{n+1}{4^{2n+1}} \binom{2n}{n}^2.$$

Example 3 For $n \in \mathbb{N}$, n > 2, let us consider the random variable X having the Student density of probability

$$\varphi(s) = \frac{\Gamma\left(\frac{n+1}{2}\right)}{\sqrt{n\pi}\Gamma\left(\frac{n}{2}\right)} \left(1 + \frac{s^2}{n}\right)^{-\frac{n+1}{2}}, s \in \mathbb{R}.$$

$$(n+1)^2 \quad (n+1)$$

Then
$$V(X) = \frac{n}{n-2}$$
 and $S(X) = \frac{\Gamma\left(\frac{n+1}{2}\right) \Gamma\left(n+\frac{1}{2}\right)}{\sqrt{n\pi}\Gamma\left(\frac{n}{2}\right)^2\Gamma(n+1)}.$

The probability density function of $Y_x = \frac{1}{x}X$ is

$$p(t,x) = \frac{\Gamma\left(\frac{n+1}{2}\right)}{\sqrt{n\pi}\Gamma\left(\frac{n}{2}\right)} x \left(1 + \frac{x^2t^2}{n}\right)^{-\frac{n+1}{2}}, t \in \mathbb{R}, x > 0.$$

According to Theorem 1 we have

$$V[Y_x]S^2[Y_x] = \frac{\Gamma\left(\frac{n+1}{2}\right)^4 \Gamma\left(n+\frac{1}{2}\right)^2}{\pi(n-2)\Gamma\left(\frac{n}{2}\right)^4 \Gamma(n+1)^2}.$$

3 Asynchronous variance and information potential

In this section we consider the vector $x = (a, \mu, \nu, \sigma)$ where $a \in [0, 1]$, $\mu \in \mathbb{R}$, $\nu \in \mathbb{R}$, $\sigma \in (0, \infty)$. Let Z_x be the random variable with probability density function

$$p(t,x) := \frac{1}{\sigma\sqrt{2\pi}} \left(a \exp\left(-\frac{(t-\mu)^2}{2\sigma^2}\right) \right) + (1-a) \exp\left(-\frac{(t-\nu)^2}{2\sigma^2}\right).$$

Theorem 2 The variance $V[Z_x]$ is increasing with respect to $(\mu - \nu)^2$ and increasing with respect to σ . The information potential $S[Z_x]$ is decreasing in $(\mu - \nu)^2$ and decreasing in σ .

Proof. By direct calculation we find that

(4)
$$\int_{\mathbb{R}} tp(t,x)dt = a\mu + (1-a)\nu,$$
$$\int_{\mathbb{R}} t^2 p(t,x)dt = \sigma^2 + a\mu^2 + (1-a)\nu^2,$$
$$V[Z_x] = Var[Z_x] = \sigma^2 + a(1-a)(\mu - \nu)^2.$$

~

Moreover,

$$S[Z_x] = \int_{\mathbb{R}} p^2(t, x) dt$$

= $\frac{1}{2\pi\sigma^2} \int_{\mathbb{R}} \left[a^2 \exp\left(-\frac{(t-\mu)^2}{\sigma^2}\right) + (1-a)^2 \exp\left(-\frac{(t-\nu)^2}{\sigma^2}\right) + 2a(1-a) \exp\left(-\left(t-\frac{\mu+\nu}{2}\right)^2 - \frac{(\mu-\nu)^2}{4}\right) \right] dt.$

Therefore,

(5)
$$S[Z_x] = \frac{1}{2\sigma\sqrt{\pi}} \left[a^2 + (1-a)^2 + 2a(1-a)\exp\left(-\frac{(\mu-\nu)^2}{4}\right) \right]$$

Using (4) and (5) we conclude the proof.

Acknowledgement. The work was supported by the project financed by National Recovery and Resilience Plan PNRR-III-C9-2022-I8.

References

- A.M. Acu, G.Bascanbaz-Tunca, I. Raşa, Information potential for some probability density functions, Applied Mathematics and Computation, 389 (2021), Article Number: 125578.
- [2] M. Dancs, A.-I. Măduţa, Entropies related to integral operators, General Mathematics Vol. 27, No. 2 (2019), 97–107.
- [3] J.C. Principe, Information Theoretic Learning. Renyi's Entropy and Kernel Perspectives, Springer, New York, 2010.
- [4] Y. Sun, Z. Sun, Generating probability distributions on intervals and spheres: Convex decomposition, Comput. Math. Appl., 154(15) (2024), 12-23.

Gabriela Motronea

Technical University of Cluj-Napoca, Faculty of Automation and Computer Science Department of Mathematics, Romania e-mail: gdenisa19@gmail.com

Alin Pepenar

Lucian Blaga University of Sibiu, Faculty of Science Department of Mathematics and Informatics, Romania, e-mail: alinpep@outlook.com